Algebra 1 Name___ KEY ID: 1

FUNC.c Date Period

FUNC.c.1
Given two points, find the slope of a line.

Clearly show your work. Label your your calculations and final answer using the correct
variable ngtation. Circle your final answer.
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Write the function of a line in slope-intercept form, given a point and the ordered pair for the
y-intercept.

1) Clearly show work to find the slope using the correct variable notation. (6 reen\
2) Identify the y-intercept using the correct variable notation. ( P i)
3) Write the linear function in slope intercept form using function notation, v fi—c‘.)
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FUNC.c.3
Write the function of a line in slope intercept form, given two points.

1) Clearly show work to find the slope using the correct variable notation. ( Grre.em\ }
2) Clearly show work to find the y-intercept using the correct variable notation. (P pl®
3) Write the linear function in slope intercept form using function notation. (re2)
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FUNC.c4

Given two points from two different functions, determine if the lines are parallel, perpendicular,
or neither; justify the decision.

Period

1) Clearly show work for function f(x). Label f(x). ( ¢~ een)
2) Clearly show work for function g(x). Label g(x).
3) Determine if the lines are parallel, perpendicular, or neither; justify your decision.

1) Function f(x) has points (-3, 1) and (3, 5) 2) Function f(x) has points (-2, 8) and (3, -2)
Function g(x) has points (-2, 6) and (4, 3) Function g(x) has points (-2, -3) and (6, 1)
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3) Function f(x) has points (-4, 5) and (8,2)
Function g(x) has points (4, 3) and (12, -5)
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